Extra Review – answers are highlighted

1.  Convert the following to radians
a) 7200˚               b)  -300˚             c)  .2                       a)  
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2.  Convert the following to degrees:  
a) 
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                 c)   1 radian          a)  225(                b)  1(                       c)  
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3.  When angle is ( is placed in standard position, its terminal side passes through the 
      point  (-3, 5).  Find the values for all six trig functions.
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sin  cos  tan  cot  sec  csc
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4.  When angle is ( is placed in standard position, its terminal side passes through the 
      point  (6, 8).  Find the values for all six trig functions.
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sin  cos  tan    cot  sec  csc
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5.  Given that cos ( =
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< (< -2(.  Find the value of the other 5 trig functions.
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sin  tan    cot  sec  csc
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6.  Given that cot ( = -5 and csc ( <0.  Find the value of the other 5 trig functions.  
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7.  If the arc length of a circle is 30 cm and the area of the sector it intercepts is 180 cm2, find the radius of the circle and the angle of the sector. Radius:  12                      Angle:   5/2
8.  Find each of the following
a)  sin
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b)  cos 
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c)  sec
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d)  tan 
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         e)  csc 
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b)  
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c)  dne


d)  0                           e)   
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f)  cot 
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g)  sin 
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h)  sin 
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 i)  cos 0(
         k)  sec 
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f)  dne


g)  
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h)  
[image: image26.wmf]-

3

2

                      i)  1


k)  
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